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Question 1
Question Type: MultipleChoice

See the specification of a discount campaign below:

How many equivalence classes can be distinguished from the above specification?

Options: 
A- 3

B- 4

C- 5

Answer: 
B

Question 2
Question Type: MultipleChoice



See the specification below in which a decision point is described:

R = (D OR E) AND F

Use of the coverage type decision points modified condition/decision coverage produces the following table with test situations:

Which values are missing where the dots are stated (? to make the table complete?

Options: 
A- 010

B- 011

C- 110

D- 111

Answer: 
B

Question 3
Question Type: MultipleChoice



See the decision and test situations below:

R = (A AND B) OR C

Which test situation is missing if the coverage type decision points modified condition/decision coverage is used?

Options: 
A- Option A

B- Option B

Answer: 
B

Question 4
Question Type: MultipleChoice

See the definition below: The ease with which the information system can be adapted to new requirements of the user and the changing

external environment, or to correct errors. Of which quality characteristic is this the definition?



Options: 
A- manageability

B- flexibility

C- maintainability

Answer: 
C

Question 5
Question Type: MultipleChoice

For the creation of the central starting point there are several techniques. In the given situation it is necessary that consistency between

the data entered is guaranteed. Which of the techniques below is preferable if only one technique may be used?

Options: 
A- use of production data

B- entering through separate front-end software



C- entering through regular system functions

Answer: 
C

Question 6
Question Type: MultipleChoice

Which type of tool is used in the Execution phase to test a module or component that has a relationship with programs that have not yet

been realized?

Options: 
A- code coverage tool

B- comparator

C- 'model-based testing' tool

D- stubs and drivers



Answer: 
D

Question 7
Question Type: MultipleChoice

Which activity is not part of the Completion phase?

Options: 
A- updating the testware to be preserved

B- assessing test results

C- evaluating the test process

D- selecting the testware to be preserved

Answer: 
B



Question 8
Question Type: MultipleChoice

During the Process Cycle Test, the coverage type paths is used. In which way can coverage be varied here?

Options: 
A- by using boundary values

B- by using a higher or lower test depth level

C- by taking equivalence classes into consideration

Answer: 
B

Question 9
Question Type: MultipleChoice

A structured testing approach is characterized by:



providing concrete footholds covering the full scope and describing the complete range of relevant aspects providing a structure, so that

it is clear what exactly by whom, when and in what sequence has to be done. What is the fourth characteristic?

Options: 
A- it delivers insight into and advice on any risks in respect of the quality of the tested system

B- managing test activities in the context of time, money and quality

C- the testing is on the critical path of the total development, as briefly as possible, so that the total lead time of development is shortened

D- to find defects at an early stage

Answer: 
B
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